cT (cm)

Yield in Bin A  Yieldin Bin B Yield in Bin C Yield in Bin D

10
50
100
200
400
600
800
1000
1200
10000

2202 +43
1649 £ 2.9
100.8 = 2.2
52.1£2.0
203 +1.3
139 £ 1.0
83038
53 £0.6
49 +0.7
1.33 = 0.22

139.8 = 3.4
618.4 £ 5.8
3732 +4.3
189.9 4.0
86.7 £ 2.7
572 +£2.1
433+1.9
356 £ 1.7
312 £ 1.8
9.7+ 0.6

293.7 £ 49
422 +1.4
50.7 £1.5
37.0 1.7
189 £ 1.2
153 £1.1
11.1 £ 0.9
9.7+ 0.8
8.2+09

1.19 +0.21

506 £ 7
149 £ 0.8
19.3 £0.9
15.6 = 1.1
7.3 +£0.8
50=£0.6

2.87 £0.48
32=x£05
2.29 £0.48
0.19 &= 0.08



